
ে�ড 7 গিণত েরফাের� িশট

পিরমাপ প�িত জেুড় �পা�র

1 ইি� = 2.54 েসি�িমটার
1 িমটার = 39.37 ইি�
1 মাইল = 1.609 িকেলািমটার
1 িকেলািমটার = 0.6214 মাইল

1 গ�ালন = 3.785 িলটার
1 িলটার = 0.2642 গ�ালন

1 পাউ� = 0.454 িকেলা
াম
1 িকেলা
াম = 2.2 পাউ�

স�ূ ও সংখ�া

সাধারন সদু
I  =  prt      েযখােন l হেলা সুদ, 
 p হেলা মূল, 
 r হেলা হার এবং 
 t হেলা সময়

��ািপজেয়ড

A  =  bh 

ি�ভুজ

A  =  1 bh
2

সমা�রাল ব�ৃ

ব�ৃ
C  =  2πr
C  =  πd
A  =  πr 

2

A  =  1 h(b1 + b2)
2

V  =  Bhসাধারণ ি�জম
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সমেকাণী ি�ভুজ ি�জম

সমেকাণী আয়তে��াকার ি�জম

সমেকাণী আয়তে��াকার িপরািমড
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